Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER-C to D Bridge Course EXAMINATION —Summer- 2019

Subject Code:C300004 Date: 11-06-2019
Subject Name: ENGINEERING PHYSICS ( GROUP-1)
Time:10:30 AM to 12:00 PM Total Marks: 70

No.

Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.

Question Text and Option. U2« vi [Ascul.,
SlI unit of work is

A. candela B. ampere
C. kelvin D. joule
5V SI 21sH, £,

A il B.  aifuxz
C.  3eaq D. o«
Which of the following unit is not a derived unit?

A. joule B. watt

C. newton D. kelvin
Alaadimiel 5595 2154 AUAA 2isH 42l?

A oyq B. a2

C. eq D.  sleaq
100 dyne = newton.

A 10° B. 103

C. 10° D. 103
100 &15= 2,

A 10° B. 103

C. 10° D. 103

Pitch of a micrometer screw gauge is 1 mm. There are 50 divisions on its circular
scale. Calculate its least count.

A. 0.05mm B. 0.01lmm

C. 0.02mm D. 0.1mm

HID51H122 25 Oloyfl dla 1 mm €. d<l Uiz 256 1i 50 [Aci0L 9, HiD5HI22 24 Oloy]

el HIY 5d 2kl

A. 0.05mm B. 0.01lmm

C. 0.02mm D. 0.1mm

Main scale of a vernier calliper is calibrated in mm. 9 divisions on its main scale are
equal to 10 divisions of its vernier scale. Calculate its least count.

A.  0.1mm B. 0.0lmm

C. 1mm D. 0.05mm

25 Aeili2 seludl Hod 258 mmui 2ilsd 9. dd41 9 [Aeuotd Hiu a1z 25a41 10 [AeuoL-l

~

HIYU 621012 69 ,dl d<il debdd Hiw alsd 2iAl,

A. 0.1mm B. 0.01lmm
C. 1mm D. 0.05mm
1A%= m

A. 107 B. 108

C. 108 D. 10
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10.

0.

11.

9.

12.

2.

13.

13.

14.

Y.

15.

1A%= m

A. 10710
C. 108
Sl unit of is kelvin.
A. mass
C. length
1l SI 254 5(ca 9.
A e
C. doud

What is Sl unit of velocity?
A, m/s?

B. 108
D. 10%°
B. time

D. temperature

B. wwy
D. duuiq
B. ms

D. ms?

B. ms

D. ms?

Which of the following is a fundamental ph.ysical quantity?

C. mls

Q9L SI 25 9 £9?
A, m/s?

C. mls

A. Velocity

C. Time

l2miel 56 yaoud ciilas gl €92

B. Density
D. Acceleration

A 99 B.  4ddl
C. auwy D. wga
0.050 has significant figures.

A 1 B. 2

C. 3 D. 4
0.0504. AULEs w5l 9.

A 1 B. 2

C. 3 D 4

The product of mass and velocity is known as

A. acceleration
C. velocity
01 il 40 <AL ALPLISIR < 56 69

B. force
D. momentum

A yd
C. au

B. oo
D.  goul4

Newton’s second law of motion gives magnitude of

A. force B.  acceleration
C. mass D. time

2L [l oilorl (414 4l yer vuu o,

A on B.  wan

C. D. ywy

Mass x Acceleration = :

A. Impulse B. Force

C. Time D. Density

201 X Udol=

A 9ol B. o

C. wuwy D.  dddl
External force acting on a body is zero, then its acceleration
A. increases B.  decreases
C. isequal to zero D. remains constant
V5 d2d U QAL L& 610 Yt 69, dl d<il L

A gbg B. a2

C. gaains D.  wyngiae

How much is the increase in momentum when mass and velocity of a body is increased
by two times?

A. Two times B.  Four times
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u.

16.

1e.

17.

9.

18.

<.

19.

.

20.

21.

9.

22.

L.

23.

23.

C. Sixtimes D. Eight times

YL, getHle 2 oL o1l 53918 9L 524l 48 97

A. sl B. auraml
C. ol D.  2usawil
Newton’s first law of motion gives the definition of

A. mass B. velocity
C. force D. time
A2l UAH O[AAL [A4H, <{l v iU 89,

A B. qg

C. o0 D. 2wy

0.2 m/s? acceleration is produced when a force is applied on an object of mass 2 kg.

How much is the force acting on the object?

A. 04 B. 0.1]
C. O0.IN D. 04N
6L kg 91 H2AAAL YELA U 601 AOUSAL dHE 0.2 M/S? UL Gelleel 21X 69, dl UEIA UR QL3 6L
524l 697
A. 04 B. 0.1]
C. O0.IN D. 04N
Velocity of an object changes from 10m/s to 20 m/s in 10 s. Find its acceleration.
A 1m/s? B. 1ms?
C. 2m/s? D. 2ms?
215 Y21l d0L 10 A5 10m/s 2l 20 m/s Al €9.d<Al Ul 2Lkl
A 1m/s? B. 1ms?
C. 2m/s? D. 2ms?
Force of attraction between molecules of same material is known as
A. cohesive force B. adhesive force
C. electromagnetic force D. nuclear force
25 64 ULIAAl 2UABIL 422 AL HISURL 61 5GA1A €9,
A dalsd am B.  sualsd o
C.  [dgayoilsy o D.  fsquz o
Sl unit of stress is :
A. N B. N/m?
c. J D. Jm?
Aol SI 2154 &9,
A. N B. N/m?
c. J D. Jm?
Small drops of liquid are spherical in shape because of
A. atmospheric pressure B.  surface tension
C. viscosity D. osmotic pressure
AL 15 ALl i 21 ollousiz sid 9
A AldlgRBLd 2oL B.  uzdwal
C.  [ReoMdl D.  sliuHiles soun
For small deformation, stress and strain are to each other.
A. inversely proportional B. equal
C. directly proportional D. none
AAlell (A3ur Hi2 Uldotan i [Asa visoilon-l S 9.
A zdAUHLEHE B. w4
C. HuuHIEHi D.  aisurqlg
Inverse of is called compressibility.
A.  Young’s modulus B.  Stress
C.  bulk modulus D. Strain
Al A2, 2oledlidl 56 €9,
A L HigE B. uRon
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24.

Y.

25.

U,

26.

Le.

217.

9.

28.

L.

29.

.

30.

30.

31.

31.

32.

3.

C.  oles Higgax D.  [asld

Pressure is a quantity.

A. scalar B. vector

C. fundamental D. none

20410 %, 2o e,

A afza B. alea

C. Hacd D.  2suet-lg

A tension of 100N is present in a wire of cross-sectional area 10® m?. Find stress in
the wire.

A.  108N/m? B. 10“*N/m?

C. 10®%N/m? D. 10*N/m?

107 M2 2ALLE92AL HASNALOU 25 dIZHL 100 Nl ABLAGAO €9 dl dlzHE Uldoronedl atpidl s2i.
A.  108N/m? B. 10“*N/m?

C. 10®%N/m? D. 10*N/m?

Value of Young’s modulus for pure plastic material is

A 1 B. zero

C. Infinite D. none

A¥YEL ELRes ueld Hi2 doL vl (sHd 9.

A 1 B. )

C. dd D.  asupt-lg

Sl unit of surface tension is .

A.  N/m B. N/m?

C. Jm D. Jm?

YBALOLAL ST 2154, &,

A.  N/m B. N/m?

C. Jm D. Jm?

Surface tension of liquid with increasing temperature.
A. increases B.  decreases

C. remains constant D. none

ALUHLAHL Q2L 412 WALl uBdLe, 24,

A, gadl B. uzdi

C. a9 D.  aisyprqlg

Surface tension tries to area of free surface of a liquid.
A. decrease B. increase

C. both D. none

YBALEL ULl H5d AUl AsnHi 5301 Wil 52 69,

A g2l B. aqal

C. oiq D.  wisuaqlg

Surface tension of a liquid is 70 dyne/cm. What will be its value in SI?
A. 0.07 N/m B. 0.007 N/m

C. 0.7N/m D. 7.0N/m

215 WAl UBALRL 70 dyne/cm €9, d<il [54d SI usH(duni g 227

A.  0.07N/m B. 0.007 N/m

C. 0.7N/m D. 7.0N/m

Velocity of liquid at which streamline flow converts into turbulent flow is called
A. terminal velocity B. linear velocity

C. critical velocity D. relative velocity

6% A2 49 UR 2Ll Asede] 3UidR UEOH ASAHE AA A 56 €9,
A 2@qg 9ol B. z[unan

C.  silasqa D. & da

Reynold number of liquid is 4000. What is name of its flow?

A.  Turbulent flow B.  Streamline flow

C. Both D. None

~ ~

oL UALELAL AL 512 4000 S Al dedl UAlgel 4 sEAA?
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33.

33.

34.

3%.

35.

3U.

36.

3.

37.

39.

38.

3<.

39.

40.

g0,

41.

v9.

Al uges Al B.  2apil waus

C. oid D.  asupt-lg

Sl unit of coefficient of viscosity is .

A. Ns/m? B. Nsm?

C. N/m? D. Nm?

2AlAdL IRLIsL S| 154, £,

A. Ns/m? B. Nsm?

C. N/m? D. Nm?

How much is the resultant force on a sphere when it attains terminal velocity?
A. Maximum B. Minimum

C. Infinite D. Zero

AL 2[AA AL U 52 AR oL U< UREuH ot 529 Sia €92

A Hedy B.  aydu

C. odd D. g~

Height of liquid in a capillary tube does not depend on :
A. atmospheric pressure B. density of liquid
C. angle of contact D. acceleration due to gravity
Seq0ilHi naldl G Y2 D143 AL 44,

A, dld1AR0L 2110l B.  wadldl uddl

C. =udsa D. 934 ua2l

Sl unit of velocity gradient is .

A s B. st

C. mils D. m

9L UAGAAL ST BisH, £,

A s B. st

C. mils D. m

Sl unit of heat capacity is :

A JK B. NK

C. JK D. N/K
GrHIALRALAL ST 2154 £,

A JK B. NK

C. JK D. N/K

lcalorie= joule.

A. 0.238 B. 32

C. 4 D. 4.2

1364 oy,

A. 0.238 B. 32

C. 4 D. 4.2

100 °C= K

A. 273 B. 173

C. 373 D. 298

100 °C= K

A. 273 B. 173

C. 373 D. 298

Sl unit of heat is

A. newton B. joule

C. watt D. ampere

GruiAL SI ¥, £,

A. A2 B. Y&

C. qp D.  silyaz

Heat is transmitted from one end to another end of an iron rod due to
A. radiation of heat B.  conduction of heat
C.  convection of heat D. none

Alvigellell Al0Hi 245 9219l oilon £941 Y4l GrHie A aueil 21x 89?2
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42.

w2

43.

3.

44,

Y.

45.

.

46.

.

47.

6.

48.

g,

49.

g,

50.

A, G4 B. Gwag-

C.  Gwidad D.  asupt-lg
All radiations incident on a black body get

A. refracted B. reflected

C. absorbed D. None

51011 UELEL UL 2ALMLA, AdL o9l o7 [Al501 2 €9,

A asleid B.  waaldq

C.  sailtd D.  suer-lg
Sound wave having frequency greater than 20 kHz is called
A. audible sound B. infrasonic wave
C. ultrasonic wave D.  supersonic wave
eq (il 2A19(d 20kHZ 4l 4412 X dl d-d g sEaA?

A sl sl B.  &esiilas aa
C. sazidifqs 42 D. yuzifds 420
Sl unit of frequency is

A. joule B. hertz

C. N D. N/m

2119 dl S| vis4 9.

A oyd B. ey

C. N D. N/m

Time period of a wave having frequency 100 Hz is

A. 0.1s B. 0.01s

C. 0.001s D. 10s

100 Hz U4l 4214l 201l 24144510, 9.

A. 0.1s B. 0.01s

C. 0.001s D. 10s

Infrasonic waves are

A. audible B. notaudible

C. light waves D. none

D1alls d2oll £

A gy B. wauxy

C. us1l dzoll D.  wisuya-lg

A body in produces sound.

A. vibration B. circular motion
C. tangential motion D. linear motion
Yelddl taell Geued 52 69.

A Suq B. adousizald
C. =zygiald D. fpal

In transverse waves, direction of vibration of particles of medium is
direction of propagation of wave.

A. perpendicular B. parallel

C. both D. none

Aotald d2IUHL 5BRLAL S (2o d2orl w0l Lo S 9.
A doy B. a2

C. oiqd D.  supt-lg

Audible sound wave has frequency

mor.e than 20kHz

A. 20 Hzto 2000Hz B.

C. 20Hz to 20kHz D. lessthan 20 Hz
1oy b d2all<dl sugla, S 9.

A. 20 Hz 4l 2000Hz B.  20kHz 53di 44
C.  20Hz ¢l 20kHz D. 20 Hz 534l &

Volume of a Hall is 5000 m3. If total absorption is 200 O.W. U then calculate
reverberation time of hall.

to the
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yo.

51.

uq.

52.

u-.

53.

u3.

54.

uy.

55.

uu,

56.

Ue.

57.

ua.

58.

uc.

A. 0.0066s B. 4.125s

C. 151.51s D. 10s

25 UM 52 5000 M3 €9, o1 5@ Bl 2iEL 200 O.W.U. 1A dl d<il wlasiy uxa il
A. 0.0066s B. 4.125s

C. 151.51s D. 10s

Wavelength and frequency of a radio wave are 12 m and 25 X 10° Hz respectively.

Calculate its velocity.

A, 2.08X10°m/s B. 3X10%m/s

C. 300mf/s D. 300 Hz

25 234 A2l dZadous 12 m 2id vUgdl 25 X 105 Hz 49, dl d-dl 931 2lisl.
A.  2.08X10°m/s B. 3X10%m/s

C. 300mf/s D. 300Hz

Distance between two consecutive crest or trough of a wave is called
A. wavelength B. amplitude

C. frequency D. timeperiod

ALl oL 5(M5 2015 ol 5[Hs Ad 422l Didzd 56 69,

A 43 dos B. suldzdwr

C. gl D. auqdsa
According to Newton, propagation of sound in air is process.
A. adiabatic B. isothermal

C. isobaric D. none

A2l Hd HoyoL sAUHL 2Al Uu0] Y2l &,

A B.  uuqla

C. wualoy D.  aisuplls
Sound is a wave.

A. transverse B. longitudinal

C. stationary D. none

e, AZ9UL 9.

A, dopld B. o

C. [Rad D.  asupt-lg

Light waves are waves.

A. longitudinal B.  transverse

C. mechanical D. none

U519AL 4301, AZ9UL 59

A Had B. 4o

C. ails D.  wisuya-lg

The splitting up of beam of white light into different colours is known as
A. dispersion B. interference

C. refraction D. polarisation

U5E UsLAU, 6yel SyEl UKL BUIARBLAL U5l 4 s3al £9?

A [Assy4 B. calaszul

C. alsaaqd D.  4fasaq

10nm= m

A.  10° B. 10°

C. 10 D. 10°%

10nm= m

A 10° B. 10°

C. 10 D. 108

Carbon atoms form bond with other carbon atom.
A. ionic B. covalent

C. metallic D. hydrogen

5160 URHIADLL 6l 5161, URHIADIL 12 ol9 o419, 9,
A yafas B.  usdlsys
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59.

Y.

60.

0.

61.

<.

62.

S.

63.

3.

64.

<.

65.

<u.

66.

ce.

67.

C. #las D.  widglon-

Surface area/volume ratio is for nano particles.
A. very large B. Verysmall

C. zero D. none

AULZL AL AA50/5EAL ALRLTR AAIUEIAHIZ S 69,

A vl gHIR B.  voL w1

C. 9~ D.  2suet-lg
Which colour of light of spectrum obtained by a prism has minimum deviation?
A. Blue B. Red

C. Yellow D. Violet

[Muedl HoLdL ABUZHL 5L UL Ustld, [AAa Aldl 20169 212 €9?
A qeal B. a

C. D. aindl

How much is the velocity of light in vacuum?

A.  zero B. 3X10%m/s

C. 3X10%m/s D. 3X 10%m/s
Ustaldl geuasiami o1 24l 9?

A gy B. 3X10%m/s

C. 3X10%mi/s D. 3X 10%m/s

What is Snell’s law?

A. Sini/sinr=1 B.  Sini/sinr =infinite
C. Sini/sinr =constant D.  Sini/sinr =variable
2dl [Aau 9 £9?

A. Sini/sinr=1 B.  Sini/sinr =24,

C.  Sini/sinr =u1am D.  Sini/sinr =u4

Velocity of light in air and liquid are 3x 108 m/s and 1.75 x 108 m/s respectively.

Refractive index of the liquid will be .
A. 475 B. 0.8

C. 171 D. 1.00

SAIHL U519 3X 108 m/s i UALEIHE 1.75 x 108 m/s €9 dl waléld alseadis
23,

A. 475 B. 058

C. 171 D. 1.00

Superposition of light waves over each other is known as

A. refraction B. reflection

C. interference D. polarization

21504171 Uz Us19L Aol Aulldsze dzls A 99,

A alsmaqd B.  uadd

C.  eifasm D.  yldoaq

B particle has electric charge.

A. zero B. positive

C. negative D. none

B 50, [Asrauz 419 ©9.

A g B. #4q

C. =u D. a5y 4ls

«a particle is nucleus of .

A. Na B. Ca

C. H D. He

a 50 AL <4524 €9,

A. Na B. Ca

C. H D. He

Number of neutrons in C2* atom is :

A 6 B. 14
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<9.

68.

<c.

69.

90,

C. 8 D. 20

C* URMUHI 421l v 2

A 6 B. 14

C. 8 D. 20

Reciprocal of decay constant of radioactive element is called

A. halflife B.  time period

C. frequency D. average life
21-wi529 uelddl # [AAdisl A2 d-l 56 69,

A wE waqsia B.  auadsia

C. gl D.  dRia @aqsio
Average life of a radioactive material is 5000 year. Its half life is
A. 3465 B. 2500

C. 10000 D. 5000

25 22121529 ULIAAL U229 A4A5101 5000 AN 89, dell 218 D51
A. 3465 B. 2500

C. 10000 D. 5000

Half life of a radioactive element is 10 day. Its decay constant is
A. 6.93 B. 01

C. 5 D. 0.0693

wis 232529 ULIAAL w8 29519 10 (2924 69, d-ll & [Aadis
A. 6.93 B. 01

C. 5 D. 0.0693

*kkhkhkhkkhhhhkikkkkk

year.

L
&£n

day™.

[zau! 9,

.(B/
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